
ATTENTION:  Is your Cabinet damaged? 

Need help or spare parts? For fastest service, 
contact NewAge Products at 1-877-306-8930; 
or support@newageproducts.com. 
Do not return to the retailer.

STOP

IM-OK2.02A-01

Signature Outdoor Kitchen  
False Frame 18” & 36” 

Stainless Steel
INSTALLATION GUIDE

For the online installation manual and videos regarding this product, please check out our support hub:  
 https://newageproducts.com/support-hub/outdoor-kitchen-stone SKU#66113

SKU#66114



Index
Unpacking	 2

Product Inspection 	 3

Product Specifications	 3

Tools Needed	 4

Hardware Included	 4

Assembling the 18” & 36” False Frame 	 5

Spare parts - 18in False Frame Cabinet	 10

Spare parts - 36in False Frame Cabinet	 11

Care and Maintenance of your Stainless Steel Cabinets	 12

MANUFACTURER WARRANTY	 13

Unpacking
• Begin by placing the package on a covered flat surface.
• Remove all cardboard and foam packaging material.
• Dispose / recycle all packaging materials.
• Verify all the contents in the box and gather the required tools. See “Tools Needed” in the list below. 



3

Product Inspection 

•	 Check to see all parts are received as per the 
order placed.

•	 Contact NewAge Products  at 1-877-306-8930;  
for any missing parts.

•	 Inspect the products for any damages before 
starting the installation.

•	 Go through the installation instructions carefully 
before starting the installation.

Product Specifications

18” False Frame Cabinet 36” False Frame Cabinet

SKU#66113 SKU#66114

W 18in x D 22.34in x  H 34.77in

W

WD
D

H

H

W 36in x D 22.34in x  H 34.77in



4

 

    

Flat Washer 
M6 X4

Tools Needed

Hardware Included

Hex Head Bolt  
M6X50mm X2

Adjustable Wrench X1

Open End Wrench X1

24” Spirit Level X1

Socket X1

Tape Measure X1

#2 Phillips Bit X1

Socket Wrench X1

#2 Phillips Head Screwdriver X1

Pan Head Screw 
M4X10mm X8

Flat Head Screw  
(#10x1in) X12

 Hex Nut
M6 X2

Leveling Leg M8 X4Leg  X4 Flange Hex Head  
Screw M6X12mm X12

Rubber Gasket 
(Supplied) X1

Drill Bit  
M4 (Supplied) X1 

S.No. Description 18in False Frame Cabinet 36in False Frame Cabinet

1 Hex Head Bolt M6X50mm 2 2

2 Hex Nut M6 2 2

3 Flat Washer M6 4 4

4 Leg 4 4

5 Leveling Leg M8 4 4

6 Flange Hex Head Screw M6X12mm 12 12

7 Pan Head Screw M4X10mm 8 8

8 Drill Bit M4 (For mounting Fiber Cement Boards on Cabinets) 1 1

9 Rubber Gasket (For Countertop Assembly) 1 1

10 Flat Head Screw (#10x1in)  
(For mounting Fiber Cement Boards on Cabinets)

12 12

NOTE: Please refer to Signature Outdoor Kitchen Master Install Guide for (8), (9) and (10).



5

1

2

Assembling the 18” & 36” False Frame 
Place the two welded frames upright. Ensure the orientation of the front frame as shown (A).

While holding the frames, place the bottom shelf on the base beams of both the frames.  
Push the welded frames outward to fit perfectly with the bottom shelf.

Ensure the cut holes are facing outwards for the 
correct orientation

FRONT 
FRAME

REAR 
FRAME

A. Keep the frames closer > B. 

show that frames are being 

pushed outwards

BOTTOM  
SHELF

Ensure the holes 
closer to the bottom 
of the frame

A



6

3

A

B

4

Assembling the 18” & 36” False Frame 
Slide the bottom right side beam into the open channels of the frames. To ensure the correct 
fitment, place your fingers on the beam as shown (A) and push it towards the channel until the 
snap fit engages completely as shown (B).

Similarly install the bottom left side beam.

Inserting  
the Beam

After the snap-fit 
being engaged

Firmly press the beam 
and push it into the 
channel of the frame



7

A

C

Assembling the 18” & 36” False Frame 
5

Slide the top right side beam into the open channels of the frames. To ensure the correct 
fitment, place your fingers on the beam as shown (A) and push it towards the channel until the 
snap fit engages completely as shown (B). For correct orientation, refer (C).

6 Similarly install the top left side beam.

Firmly press the beam 
and push it into the 
channel of the frame

The slots on top beams should be oriented as shown in image.

B

Inserting  
the Beam

After the snap-fit 
being engaged



8

7

A

Install 8x Pan Head Screws M4.

8 Flip the cabinet frame 180° on a safe and clean surface. 

Assembling the 18” & 36” False Frame 

180°

B



9

9

10

Tighten the 4x Leveling Leg (A) into 4x leg (B). Install the 4 legs to the bottom of the beams on 
the frame using 12x Flange hex head screw M6.

NOTE: To fasten the False Frame Cabinets, use the hardwares (2x Hex head bolt M6, 2x Hex 
Nut M6, 4x Flat washer M6) provided. Level Cabinets and tighten all bolts.

Assembling the 18” & 36” False Frame 

A

B



10

Spare parts - 18in False Frame Cabinet

4

657

2

1
3

4

8

9

18in False Frame Cabinet
Callout Engineering Part Number Description Qty

1 OK2-01.004.01A-01 Leg 1

2 H00196A-01 Leveling leg M8 1

3 H00532A-01 Flange Hex Head Screw M6X12mm 1

4 H00204A-01 Pan Head Screws M4X10mm 1

5 H00199A-01 Flat Washer M6 1

6 H00198A-01 Hex head bolt M6X50mm 1

7 H00200A-01 Hex Nut M6 1

8 H00633A-01 Flat Head Screw (#10x1in) - For Fiber Cement Boards 1

9 OK2-10.006A-01 Rubber Gasket - For Countertop 1



11

1

2
3

4

5

7

6

4

8

9

Spare parts - 36in False Frame Cabinet

36in False Frame Cabinet
Callout Engineering Part Number Description Qty

1 OK2-01.004.01A-01 Leg 1

2 H00196A-01 Leveling leg M8 1

3 H00532A-01 Flange Hex Head Screw M6X12 1

4 H00204A-01 Pan Head Screws M4X10mm 1

5 H00199A-01 Flat Washer M6 1

6 H00198A-01 Hex head bolt M6X50mm 1

7 H00200A-01 Hex Nut M6 1

8 H00633A-01 Flat Head Screw (#10x1in) - For Fiber Cement Boards 1

9 OK2-10.006A-01 Rubber Gasket - For Countertop 1



12

Perform Regular Maintenance

OXIDIZATION Removal

List of common conditions that cause corrosion or 
discoloration of stainless steel and should be avoided:

 ber cloth.  
After washing rinse in clean water and wipe the surface dry with your cloth remembering to go 
with the grain on brushed stainless steel.  
Generally you should wash your stainless steel every three months.  Coastal areas or next to a 
chlorine pool more frequently every 2 weeks. 
Do not use abrasive cleaners or a scouring pad of any type as they will cause excessive wear and 

 nish.  
 nishes in coastal environments may show tea staining if not washed regularly. 

 ber cloth. 
For better protection use a thin coating of protectant on the surface. We do not recommend using 
this coating for food prep areas.

If you have oxidation there are a few steps to take to bring your stainless steel cabinets back 
to “as new” condition. 
Apply clean water with a cleaning sponge and rub gently in the direction of the grain.  If the 
mark won’t shift, it may be necessary to use a stainless steel cleaner, in which case apply the 
cleaner and rub gently.  After cleaning it is important to rinse the stainless steel with clean 

  with a soft cloth. Remember to always rub with the grain, NEVER across 
 nish, and the stainless can lose its shine.  If you must use a scourer, use 

a plastic scrub pad with no metal content.  

1. Chloride containing cleansers – this includes bleach and any cleaners containing bleach

2. Muriatic acid (hydrochloric acid) – commonly used to clean up after tile/concrete installation

3. Concentrated soap residue – chemical additives will cause discoloration and some dried soaps
actually look like rust

4. Water with high iron content – can leave a rusty residue, especially if allowed to drip continuously

5. Contact with iron materials – including steel wool, iron residue/dust from installation or cleaning of
other steel products

6. Trapped moisture between the product and cover – rubber mats, metal cans or cleaner cans-
 Allow cabinets to completely dry before covering.

7. Salts – contain chlorides

8. Extreme Heat by Flame

9. Do not permit citrus or tomato juice to remain on stainless steel surfaces.

10. No abrasive cleaners, steel wool pads, or abrasive cloths as they will scratch the finish.

Care and Maintenance of your Stainless Steel Cabinets



Scan this QR code with the camera 
on your mobile device to visit the 
NewAge Products Support Hub

www.newageproducts.com/support-hub/

Register your NewAge Products purchase online for quicker 
customer assistance and access to exclusive benefits

Visit www.newageproducts.com/register/

Warranty Claim
For warranty service please contact NewAge Products at 
1-877-306-8930; or support@newageproducts.com
Please review all warranty details below, prior to 
contacting NewAge Products for a claim.
Scan the QR code on the right to access our support page or
visit www.newageproducts.com/contact-us/

PROOF OF PURCHASE IS REQUIRED 
TO OBTAIN WARRANTY SERVICE. 

Please have the following information available 
when you call our customer service team:

• Name, address and telephone number
• Product Name / SKU Number
• A clear, detailed description of the problem
• Proof of purchase including order number

NEWAGE PRODUCTS INC. SIGNATURE OUTDOOR KITCHEN CABINETS 

LIMITED WARRANTY
WHAT IS COVERED

When this product is installed, operated and maintained according to the instructions attached to or furnished with the product, NewAge Products 
Inc. will replace the defective product or parts if the part fails as a result of defective materials or workmanship for the warranty duration from the 
purchase date of the product.  
Subject to the limitations and disclaimers set forth below or in other product documentation, NewAge warrants to the initial customer that (1)  
product fi nishes will be free from defects for three years following purchase, (2) drawer slides will be free from defects for two years following  
purchase, and (3) the overall structural integrity of the product (not including finishes or drawer slides) will be free from defects for ten years 
following purchase.

1. Service calls to correct the installation of any NewAge products or to instruct you how to use or install them.
2. Damage resulting from products caused by accident, misuse, abuse, fire, flood, corrosion, improper installation, acts of God, neglect,  

modification, improper maintenance and normal wear and tear or mishandling.
3. Products damaged by improperly loading beyond the specified maximum weight capacity outlined in the instructions provided with the  

product.
4. Repairs or replacement when your product is used in other than normal, residential use, such as a commercial environment, or handled in 

anyway inconsistent with the installation instructions included with the product.
5. Cosmetic damage that occurs after customer purchasing the product, including scratches, dings, dents, corrosion, or stains in the material that 

6. Surfaces damaged due to improper use of chemicals, and detergents.
7. Replacement parts for NewAge products outside Canada and the United States.
8. Loss due to theft.
9. Damage resulting from use of the product contrary and not in accordance to the instruction manual.
10. Any labor costs during the warranty period.

DISCLAIMER OF IMPLIED WARRANTIES
IMPLIED WARRANTIES, INCLUDING TO THE EXTENT APPLICABLE WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE, 
ARE EXCLUDED TO THE EXTENT LEGALLY PERMISSIBLE. ANY IMPLIED WARRANTIES THAT MAY BE IMPOSED BY LAW ARE LIMITED TO ONE YEAR, OR 
THE SHORTEST PERIOD ALLOWED BY LAW. THIS WARRANTY IS LIMITED TO THE ORIGINAL BUYER. Some states and provinces do not allow limitations 
on the duration of implied warranties of merchantability or fitness, so this limitation may not apply to you. This warranty gives you specific legal rights, and 
you also may have other rights that vary from state to state or province to province.

LIMITATION OF REMEDIES; EXCLUSION OF INCIDENTAL AND CONSEQUENTIAL DAMAGES
YOUR SOLE AND EXCLUSIVE REMEDY UNDER THIS LIMITED WARRANTY SHALL BE PRODUCT REPAIR OR REPLACEMENT AT OUR DISCRETION AS 
PROVIDED HEREIN. NEWAGE SHALL NOT BE LIABLE FOR INCIDENTAL OR CONSEQUENTIAL DAMAGES. Some states and provinces do not allow the 
exclusion or limitation of incidental or consequential damages, so these limitations and exclusions may not apply to you. This warranty gives you specific 
legal rights, and you also may have other rights that vary from state to state or province to province.

WHAT IS NOT COVERED

MANUFACTURER WARRANTY



ATTENTION:  Votre armoire est-elle endommagée? 

Vous avez besoin d’assistance ou de pièces de rechange? Pour obtenir un service plus rapide, 

contactez NewAge Products au 1 877 306-8930; 

ou écrivez à support@newageproducts.com. 

Ne retournez pas ce produit au détaillant.

STOP

IM-OK2.02A-01

Faux cadre de cuisine extérieure 
Signature 18 po et 36 po 

Acier inoxydable
GUIDE D’INSTALLATION

Pour le manuel d'installation en ligne et les vidéos concernant ce produit, veuillez consulter notre centre 
d'assistance :  

 https://newageproducts.com/support-hub/outdoor-kitchen-stone
Nº d’UGS 66113

Nº d’UGS 66114



Index
Déballage	 2

Inspection du produit  	 3

Spécifications des produits	 3

Outils requis	 4

Visserie incluse	 4

Assemblage du faux cadre de 18 et 36 po  	 5

Pièces de rechange - Armoire à faux cadre de 18 po	 10

Pièces de rechange - Armoire à faux cadre de 36 po	 11

Soins et entretien	 12

GARANTIE DU FABRICANT	 13

Déballage
• Commencer par placer l’emballage sur une surface plane doté d’un revêtement;
• Retirer l'ensemble du carton et du matériel d'emballage en mousse.
• Mettre au rebut/recycler tous les matériaux d'emballage;
• Vérifier l’ensemble du contenu de la boîte et réunir les outils nécessaires. Consultez la section 

« Outils requis » dans la liste ci-dessous. 



3

Inspection du produit 

• Assurez-vous d’avoir reçu toutes les pièces
conformément à la commande que vous avez
passée.

• S’il manque des pièces, contactez NewAge
Products au 1 877 306-8930.

• Avant de commencer l’installation, inspectez les
produits pour y déceler tout dommage.

• Lisez attentivement les instructions
d'installation avant de commencer l’installation.

Spécifications du produit

Armoire à faux cadre de 18 po Armoire à faux cadre de 36 po

Nº d’UGS 66113 Nº d’UGS 66114

L 18 po x P 22,34 po x H 34,77 po

L

LP
P

H

H

L 36 po x P 22,34 po x H 34,77 po



4

Rondelle plate 
M6 X4

Outils requis

Visserie incluse

Boulon à tête hexagonale 
m6x50 mm X2

Clé à molette X1

Clé à fourche X1

Niveau à bulle d’air de 24 po X1

Douille X1

Ruban à mesurer X1

Embout cruciforme nº 2 X1

Clé à douille X1

Tournevis à tête 
cruciforme nº 2 X1

Vis à tête cylindrique large 
M4X10 mm X8

Vis à tête plate  
(#10x1 po) X12

 Écrou hexagonal
M6 X2

Pattes de mise à 
niveau M8 X4

Pattes  X4 Vis à tête hexagonale à bride 
M6X12 mm X12

Joint en caoutchouc 
(fourni) X1

Mèche  
M4 (fournie) X1 

Nº 
de S. Description

Armoire à faux cadre de 

18 po

Armoire à faux cadre de 
36 po

1 Boulon à tête hexagonale - M6x50 mm 2 2

2 Écrou hexagonal M6 2 2

3 Rondelle plate M6 4 4

4 Patte 4 4

5 Patte de mise à niveau M8 4 4

6 Vis à tête hexagonale à bride M6X12 mm 12 12

7 Vis à tête cylindrique large M4X10 mm 8 8

8 Mèche M4 (pour le montage des panneaux de fibres de ci-
ment sur les armoires) 1 1

9 Joint en caoutchouc (pour l'assemblage du comptoir) 1 1

10
Vis à tête plate (#10x1 po)  
(Pour le montage des panneaux de fibres de ciment sur les 
armoires)

12 12

REMARQUE : Veuillez vous reporter au Guide d'installation de la cuisine extérieure Signature pour les points (8), 
(9) et (10).



5

1

2

Assemblage du faux cadre de 18 et 36 po 
Placez les deux cadres soudés à la verticale. Veillez à l'orientation du cadre frontal comme 
indiqué (A).

Tout en tenant les cadres, placez la tablette inférieure sur les montants de base des deux 
cadres.  
Poussez les cadres soudés vers l'extérieur pour qu'ils s'adaptent parfaitement à l'étagère 
inférieure.

Assurez-vous que les trous de coupe sont 
orientés vers l'extérieur pour une orientation 
correcte

CADRE 
FRONTAL

CADRE 
ARRIÈRE

TABLETTE 
INFÉRIEURE

Vérifiez les trous plus 
proches de la base du 
cadre

A



6

3

A

B

4

Assemblage du faux cadre de 18 et 36 po 
Faites glisser le montant latéral inférieur droit dans les canaux ouverts des cadres. Pour 
s'assurer que l'ajustement est adéquat, placez vos doigts sur le montant comme indiqué (A) 
et poussez-le vers le canal jusqu'à ce que l’élément encliquetable s'engage complètement 
comme indiqué (B).

De la même façon, installez le montant latéral inférieur gauche.

Insertion du 
montant

Après 
l'engagement 
de l’élément 
encliquetable

Appuyez fermement sur 
le montant et poussez-le 
dans le canal du cadre



7

A

C

Assemblage du faux cadre de 18 et 36 po 
5

Faites glisser le montant latéral supérieur droit dans les canaux ouverts des cadres. Pour 
s'assurer que l'ajustement est adéquat, placez vos doigts sur le montant comme indiqué (A) 
et poussez-le vers le canal jusqu'à ce que l’élément encliquetable s'engage complètement 
comme indiqué (B). Pour une orientation adéquate, consultez (C).

6 De même, installez le montant latéral supérieur gauche.

Appuyez fermement sur 
le montant et poussez-le 
dans le canal du cadre

Les fentes des montants supérieurs doivent être orientés 
comme indiqué sur l'image.

B

Insertion du 
montant

Après l'engagement de 
l’élément encliquetable



8

7

A

Installez 8x vis à tête cylindrique M4.

8 Retournez le cadre de l'armoire à 180° sur une surface sûre et propre.

Assemblage du faux cadre de 18 et 36 po 

180°

B



9

9

10

Serrez les 4x pattes de mise à niveau (A) dans les 4x pattes (B). Installez les 4 pattes sur la base 
des montants sur le cadre à l'aide des 12x vis à tête hexagonale à bride M6.

REMARQUE : Pour fixer les armoires à faux cadre, utilisez la visserie (2x boulons à tête 
hexagonale M6, 2x écrous hexagonaux M6, 4x rondelles plates M6) fournie. Mettez les 
armoires à niveau et serrez tous les boulons.

Assemblage du faux cadre de 18 et 36 po 

A

B



10

Pièces de rechange - Armoire à faux cadre de18 po

4

657

2

1
3

4

8

9

Armoire à faux cadre de 18 po
Légende Numéro technique de pièce Description Qté

1 OK2-01.004.01A-01 Patte 1

2 H00196A-01 Patte de mise à niveau M8 1

3 H00532A-01 Vis à tête hexagonale à bride M6X12 mm 1

4 H00204A-01 Vis à tête cylindrique large M4X10 mm 1

5 H00199A-01 Rondelle plate M6 1

6 H00198A-01 Boulon à tête hexagonale - M6x50L 1

7 H00200A-01 Écrou hexagonal M6 1

8 H00633A-01 Vis à tête plate (#10x1 po) - Pour les panneaux de fibres de ciment 1

9 OK2-10.006A-01 Joint en caoutchouc - pour comptoir 1



11

1

2
3

4

5

7

6

4

8

9

Pièces de rechange - Armoire à faux cadres de 36 po

Armoire à faux cadre de 36 po
Légende Numéro technique de pièce Description Qté

1 OK2-01.004.01A-01 Patte 1

2 H00196A-01 Patte de mise à niveau M8 1

3 H00532A-01 Vis à tête hexagonale à bride M6X12 1

4 H00204A-01 Vis à tête cylindrique large M4X10 mm 1

5 H00199A-01 Rondelle plate M6 1

6 H00198A-01 Boulon à tête hexagonale - M6x50L 1

7 H00200A-01 Écrou hexagonal M6 1

8 H00633A-01 Vis à tête plate (#10x1 po) - Pour les panneaux de fibres de ciment 1

9 OK2-10.006A-01 Joint en caoutchouc - pour comptoir 1



12

Entretien des armoires en acier inoxydable
Faites régulièrement l’entretien – 

Faites briller l’acier inoxydable

Facteurs courants de corrosion ou d’altération de couleur de 
l’acier inoxydable :

 bre. 
 on, en suivant le grain de l’acier inoxy-

dable brossé. On recommande en général de laver l’acier inoxydable chaque fois que vous net-
toyez vos fenêtres, ou tous les trois mois. Dans les régions côtières ou près d’une piscine chlorée, 
il est conseillé de le laver plus souvent, soit toutes les deux semaines. N’utilisez pas de nettoyant 
abrasif ni de tampon à récurer d’aucune sorte car ils peuvent abîmer et ternir la surface. Dans les 
régions côtières, des taches brunes apparaissent parfois sur l’acier inoxydable s’il n’est pas lavé 

 on 
 bre. Pour mieux protéger la surface, appliquez une mince couche de revêtement anticorro-

sion. Nous déconseillons l’emploi d’un tel revêtement dans les endroits réservés à la préparation 
des aliments.

Si l’acier inoxydable de vos armoires a l’air terne, il existe quelques moyens de lui redonner l’éclat 
qu’il avait à l’état neuf.
À l’aide d’une éponge mouillée à l’eau claire, frottez doucement dans le sens du grain. Si la tache 
ne s’enlève pas, il pourra être nécessaire d’employer un nettoyant pour acier inoxydable. Appliquez 
le nettoyant et frottez doucement. Après le nettoyage, il est important de rincer l’acier inoxydable 

 on doux. Rappelez-vous de toujours frotter dans le sens du 
 ni brillant de l’acier 

inoxydable. S’il faut absolument utiliser un tampon à récurer, choisissez un tampon en plastique 
Scotchbrite qui ne contient pas de métal.

1. Nettoyants au chlorure – y compris l’eau de Javel et tout nettoyant contenant du javellisant

2. Acide muriatique (acide chlorhydrique) – couramment utilisé pour nettoyer des carreaux/du béton
après l’installation

3. Résidu de savon concentré – les additifs chimiques entraînent une altération de couleur et certains
savons séchés ressemblent à de la rouille

4. Eau à forte teneur en fer – elle peut laisser des traces de rouille, surtout si elle
dégoutte continuellement.

5. Contact avec des matières ferreuses – y compris la laine d’acier et les résidus/la poussière de fer pro
duits par l’installation ou le nettoyage d’autres objets en acier.

6. Humidité emprisonnée entre la surface et tout objet – tapis de caoutchouc, boîtes métalliques ou
cannettes de nettoyants. Laisser sécher complètement les armoires avant de poser un objet dessus.

7. Sels – contiennent du chlorure

 amme

9. Ne laissez aucune tache de jus d’agrumes ou de tomate sur les surfaces en acier inoxydable.

 on abrasif,
car ils égratigneront la surface

Vos armoires d’entretien et de maintenance en acier inoxydable



GARANTIE LIMITÉE
CE QUI EST COUVERT

 
 

1. Appels de service pour corriger l'installation de tout produit NewAge ou pour vous expliquer comment les utiliser ou les installer.
2. Damage resulting from products caused by accident, misuse, abuse, fire, flood, corrosion, improper installation, acts of God, neglect,  

modification, improper maintenance and normal wear and tear or mishandling.
3. 

4. 

5. 

6. Surfaces endommagées en raison d'une mauvaise utilisation de produits chimiques et de détergents.
7. Pièces de rechange pour les produits NewAge à l'extérieur du Canada et des États-Unis.
8. Perte due au vol.
9. Dommages résultant d'une utilisation du produit contraire et non conforme au manuel d'instructions.
10. Tous les frais de main-d'œuvre pendant la période de garantie.

EXCLUSION DE GARANTIES IMPLICITES

LIMITATION DES RECOURS; EXCLUSION DES DOMMAGES ACCESSOIRES ET INDIRECTS

UNE PREUVE D’ACHAT EST REQUISE 

POUR OBTENIR UN SERVICE SOUS GARANTIE. 

Veuillez avoir les renseignements suivants lorsque vous 

• Le nom, l’adresse et le numéro de téléphone

• Le nom du produit / numéro d’UGS

• Une description claire et détaillée du problème

• Une preuve d’achat, y compris un numéro de com  
    mande

Balayez ce code à barres 2D avec la caméra 
de votre téléphone mobile pour visiter le 
centre d’assistance de NewAge Products
www.newageproducts.com/support-hub/

Enregistrez votre achat de produits NewAge en ligne pour obtenir 

une assistance à la clientèle plus rapide et un accès à des avantages exclusifs

Visitez www.newageproducts.com/register/

Réclamation sous garantie

Pour un service sous garantie, veuillez contacter NewAge Products au 

Veuillez examiner tous les détails de la garantie ci-dessous avant de 
contacter NewAge Products pour une réclamation.

Balayez le code à barres 2D à droite pour accéder à la page d’assistance ou
visitez le www.newageproducts.com/contact-us/

CE QUI N’EST PAS COUVERT

Lorsque ce produit est installé, utilisé et entretenu conformément aux instructions jointes ou fournies avec le produit, NewAge Products Inc. 
remplacera le produit ou les pièces défectueux si la pièce tombe en panne en raison d'un défaut de matériaux ou de fabrication pendant la durée 
de la garantie à partir du date d'achat du produit.

Sous réserve des limitations et clauses de non-responsabilité énoncées ci-dessous ou dans d'autres documentations produit, NewAge garantit 
au client initial que (1) les finitions du produit seront exemptes de défauts pendant trois ans après l'achat, (2) les glissières de tiroir seront exemptes 
de défauts pendant deux ans après l'achat, et (3) l'intégrité structurelle globale du produit (à l'exclusion des finitions ou des glissières de tiroir) sera 
exempt de défauts pendant dix ans après l'achat.

Dommages résultant de produits causés par accident, mauvaise utilisation, abus, incendie, inondation, corrosion, mauvaise installation, cas 
fortuits, négligence, modification, mauvais entretien et usure normale ou mauvaise manipulation.
Les réparations ou le remplacement lorsque votre produit est utilisé dans un usage autre que normal, résidentiel, tel qu'un environnement commercial, 
ou manipulé d'une manière incompatible avec les instructions d'installation incluses avec le produit.
Dommages cosmétiques qui se produisent après l'achat du produit par le client, y compris les rayures, les coups, les bosses, la corrosion ou les 
taches dans le matériau qui n'a�ectent pas la capacité structurelle ou fonctionnelle du produit.

DANS LA MESURE PERMISE, LES GARANTIES IMPLICITES, Y COMPRIS LES GARANTIES APPLICABLES DE QUALITÉ MARCHANDE OU DE CONFORMITÉ 
À UN USAGE PARTICULIER, SONT EXCLUES DANS LA LIMITE OÙ LA LOI LE PERMET. TOUTE GARANTIE IMPLICITE QUI POURRAIT ÊTRE IMPOSÉE PAR LA 
LOI DOIT SE LIMITER À UN AN, OU À LA PÉRIODE LA PLUS COURTE PERMISE PAR LA LOI. CETTE GARANTIE SE LIMITE À L’ACHETEUR D’ORIGINE. Certains
 États ainsi que certaines provinces ne permettent pas les limitations sur la durée d’une garantie implicite de qualité marchande ou de conformité, il est donc 
possible que les limitations ci-dessus ne s’appliquent pas à vous. Cette garantie vous donne des droits légaux particuliers et vous pourriez également disposer 
d’autres droits variant selon l’État ou la province.

EN VERTU DE CETTE GARANTIE LIMITÉE, VOTRE SEUL ET UNIQUE RECOURS DOIT ÊTRE LA RÉPARATION OU LE REMPLACEMENT DU PRODUIT, À NOTRE 
DISCRÉTION, COMME INDIQUÉ AUX PRÉSENTES. NEWAGE NE DOIT PAS ÊTRE TENU RESPONSABLE DES DOMMAGES ACCESSOIRES ET INDIRECTS. Certains États 
ainsi que certaines provinces ne permettent pas l’exclusion ou la limitation des dommages accessoires ou indirects, il est par conséquent possible que ces limitations et 
exclusions ne s’appliquent pas à vous. Cette garantie vous donne des droits légaux particuliers et vous pourriez également disposer d’autres droits variant selon l’État ou 
la province.

NEWAGE PRODUCTS INC. GARANTIE DU FABRICANT 
�FAUX CADRE DE CUISINE EXTÉRIEURE SIGNATURE  


